


3) Name the vector and write its component form. 5) The vertices of AABC are
K A(2, 3), B(-1, 2), and C(0, 1). Translate A4BC

using the vector (1, -4). Graph A4BC and its
image.
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4) Find the component form of the vector that
translates A(3, —2) to 4'(-1, 4).
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Tell whether the transformation appears to be an isometry. Explain.
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7)  AXYZ has coordinates X(2, 3), ¥(1, 4), and Z(8, 9). A translation maps X to X’ (4, 7). What are the
coordinates for Y’ and Z’ for this translation?






Graph the images according to the rule or the vector component.

14) (x,y)—> (x+5,y+1) 15) (-1,2)
Ay Ay
.
> »> - >
G T * x
M
B Y Y
16) (x,y)—>(x,y-3) 17) (5,2)
Ay Ay
o
- ~— >
itk
' % l l l : l Y
18) (x,y)—)(x+4,y—4) 19) (2,3)
J Ay AY
\\\
‘\ B
/—""
K _
- __>x <
- 1
- B i
T ! E
17 .




